WA ERHEF
wEtEA  NREEFERTLE (£02)
R4 R
T f& A Bl BE Hir | K& R E ]
&R L
HEHIT
BRARE L [ V=, Y= w3 35, 000. 0 35, 000. 0
EEETL
R IR H T m2 1,427. 1 1,430.0
HEET
MEAEY— T m2 | 2,304.0 2, 300. 0
BEKEIEY)
EELT
G m3 100. 7 100. 0
L m3 4.1 4.0
SR T
Skt B1000 X L1500 X H900 | f&FT 2 2.0
£kt B1000 X L1500 X H1000 | T 2 2.0
PR T
R IEHEK HILZE D400 m 60. 0 60. 0
i IR FHE D450 m 30.0 30.0
R HEAK B D150 m 152.0 152. 0
BREEKIL FAE D300 m 5.5 6.0
HEAKT
ii3E 2 B600 X H600 m 12.7 13.0
fEPEAK R - /INBE |B600 X HB00 m 15.2 15.0
HitHEK I B700 X H700 m 7.9 8.0
HEPEAK S - /NB [B700 X H700 m 15.2 15.0
1B/ NEPEAR T m 140. 4 140.0  [140.4




25 /NBEHEIK I m 102. 7 103. 0
R T

TEAEK

B m 200 200.0 A8E

BUKEIEiR R | 201.0 201. 0 ABEL. 5BFRI/ B X 1347

BT A 9f : 208 X2 A/H

B A 154. 0 154. 0 108~ : 1148 X1A/H
Yl &

SERFEIA m3 135.0 135.0 1BE

R ZEm3 | 135.0 135. 0 BE

BRER m3 135.0 135.0 18E







po 8 7 Doz BT
m.\«w, ’ ol 2=
wm&ﬂ_} Q“_.%T_\\
@%Q\L&T
JeeER 9§ 0 L
ZL/O=0|
0'000'GE L vE]/S L L Ov'69 12
SOY0 | SOVS'SE |9¥.e8E | 96¥09V geglee | 00 SEerASY oAl cw IEEsEY
S6Sr'6lL | g6SY6L | SLSEET z2el8e |00 £6.70C cw FEEMe
/| @EMY# ozEmMa| == =T 7—AT =1 JAVE=S) Sy [=us [EE
ZIIEOETYH HrHS
OOLL} } L'2SOY L 12
gzLeL 0G./.8 00 00 0GLLS cw TEEC
G)BEY L', )2'G 00 00 L',)2'G cw FTEEM | ITFEws
SMah 122 —AI| -1 —1 [Ve=:) A=t =803 [H&Y
HIZEBOETYHM (@S FEch




o E RN THE &R R
2 Ao A AlO| 3O (B 1y -y IV -y | MY - & % " &
SRR TIRERLT m® | 5,277.1 0.0 0.0 5277.1 i@ &8
JERERL m° | 8 775.0 0.0 0.0 8. 775.0
, SEREELTIZRITS
SERERELT m"® |20, 479.3 0.0 2,872.2 23,351.5 | 1y -v&E|&= 0.877
1)
AEBE BT m® 13, 325. 8 0.0 | 32,723.8 46,049.5 A (11, 648. bm3)
%2) ¥4)
FERXERT m®| 3.,101.5 |12,877.3 | 51.922.2 67.901.0
3) X5
6EREMtT | (BLEFE)| m’| 3.882.2 |16,428.8 | 87,435.7 107, 746. 7
EEm &R m’| — |11,172.3 s 11.172.3 122, 344. 6m2 x 0. 5m
EEESTEETIC (RTE |
W ) &k my -vice
EHREEI -5,388. 7 -5,388.7 |£9 3
& &t m? |54, 840.9 |40,478.4 | 169,565.2 264, 884. 4
X My—L=@geh— (1V—y+IJY—2)
X B, LTROTEESES.
S ‘ 1y -y
J— Rl ERNESER
[£ 2% —8FE] EE LE i
1)
AR ERSL 75.5 | 176.5 13,325.8
%2)
SEEE R 15.1 | 205.4 3,101.5
%3)
GERE Rt (B D) 15.1 | 257.1 3,882.2
oy -y
[ 2% —fE) it EE V-]
ABRERET —
X4)
SERE L 60.4 | 213.2 | 12,871.3
X5)
GEFE R (2 LE) 60.4 | 272.0 | 16,428.8
;K \ll *JF ;k ; -Hq—z 4—7—84‘8—8, =
EEERL m? 1,427.1 |3E% B




E R OB O+ I (&F) BEFTEE X H
A HgEEE | SRR B+ % =
me | BB e [ SmpE iR .
NO. 0 0.0 0.0 0.0 — — BNO. 0
NO. 1 20.0 20.0 0.0 0. 00 0.0 BNO. 1
NO. 2 20.0 20.0 0.0 0. 00 0.0 BNO. 2
NO. 3 20.0 20.0 0.0 0. 00 0.0 BNO. 3
/1 yd Ve /
NO. 3+10. 0 10.0 10.0 32,2 16.10 161.0 | ABNO.3+10.0
) /1 4l
NO. 4 10.0 10.0 142. 5 87.35 873.5 ABNO. 4
L 7 d
NO. 5 20.0 20.0 430.2 1 286.35 5,727.0 ABNO. 5
/ A
NO. 6 20.0 20.0 452.0°1  441.10 8,822.0 |  ABNO.6
£ 4
NO. 7 20.0 20.0 161.0 1 306.50 6,130.0 ABNO. 7
V4 e
NO. 8 20.0 20.0 1.4 81. 20 1.624.0 ANO. 8
/ Ve
NO. 9 20.0 20.0 0.0 0.70 14.0 ANO. 9
NO. 10 20.0 20.0 0.0 0. 00 0.0 ANO. 10
NO. 11 20. 0 20.0 0.0 0. 00 0.0 ANO. 11
NO. 12 20.0 20. 0 0.0 0. 00 0.0 ANO. 12
NO. 12+3.0 3.0 3.0 0.0 0. 00 0.0 | ANO.12+3.0
|,
& % 93.351.5 |

=]




® B OB Lt I (&) HEHEE AE%H
e o 12 o
/EI nlj_:'_\ ; I% : It
| HpR@E | {SIEREHEE B FEFE o ® &
NO. O 0.0 0.0 0.0 — — BNO. O
NO. 1 20.0 20.0 0.0 0.00 0.0 BNO. 1
NO. 2 20.0 20.0 0.0 0.00 0.0 BNO. 2
/ /| -
NO. 3 20.0 20.0 33.5 16. 75 335.0 BNO. 3
7 A
NO. 3+10.0 10.0 10.0 169. 0 f 101. 25 1,012:5 ABNO. 3+10.0
- 1 -
NO. 4 10.0 10.0 182. 6 175. 80 1,758.0 ABNO. 4
s A A
NO. 5 20.0 20.0 250.5 216.55 4,331.0 ABNO. 5
P 4 A
NO. 6 20.0 20.0 796. 8 523. 65 10,473.0 ABNO. 6
7
/ 7
NO. 7 20.0 20.0 668. 9 732.85 14, 657.0 ABNO. 7
/ ' 7
NO. 8 20.0 20.0 314.5 491.70 9,834.0 ANO. 8
v q o
NO. 9 20.0 20.0 25.2 169. 8b 3,397.0 ANO. 9
4 7
NO. 10 20.0 20.0 0.0 12.60 252.0 ANO. 10
NO. 11 20.0 20.0 0.0 0.00 0.0 ANO. 11
NO. 12 20.0 20.0 0.0 0.00 0.0 ANO. 12
NO. 1243.0 3.0 3.0 0.0 0.00 0.0 ANO.12+3.0
3
m
/!
= 46,049.5




ZElERE

Ll
s

D £

1. T 80X &
TEBOEMITIRO 3o0REOLRIZRA LTELD,

TR SR A~ &
R e < E LR

FEEDE LR

HouslkiBe (RRilL A Bl L3 ICRD L, LROC & BROE(RSEL S

--------- (Hate E55 0 Bk

ML ER (n)

L -
#oh v o B (o)
e wEDEOLE (M)

#o o B (nf)
TEORSEE L THEEIE, TOTETRLZHANT, P+, BEotEHEET.

2. T EFE Ik E
SEEICE Y SHL R O LIS U TR, £2.1 #EHELTS, ok, WS LEE &G, E2.2

FERLTLIL,

52 1 tEOTRE

5 B\ A 7S
P2 2=
T = X & ) = FLEL YL C
(GW) (GP) (GPs)
o 2 1.20
LB+ ‘ | (6=m) (G—0C) R
¥ B (GM) (GC) (GO) 1.20 0. 90
{SW) (SP) (SPu) _
7> .20
BRI i (S—M) (S—C) (5—=V) ! 250
WEL+ - w g £
- SM) (SC) (sV 1.20 .
(%) ( ) (sScC) (sv) 0.90
- LI i R (ML) (CcL) (OL) 1.30 0.90
Fhtt 1 & & Kk ke
M CH 1.2 X
W o+ (MH) (CH) 5 0. 90
5 M-E A 1.20 1. 00
o 1.30 1.15
fiw &= 0 1.50 1.20
powE 1. 60 1.25
WwoE 1 1. 65 1.40

(7F)  AEEERE (BB LWROEL, CTHD.

ER2 7T EECESEEENTOEX) OELERB 6 BICLDNZEFRL UZIRE
%3d, (C=1. 163

FEELUTIREEFESIMATNDIRAHS T, CEBICAZRDITOEERLD
nd. s@E —%gF C=1. 2 (REI) THER.

m1-I-1



EFAERINEHTE

EWERT

X4 F@R Rtk EER W #F

n2) (=} @2
g 20068 11180 336.0 |[EIEFOE |

|2BE | 666201 1.1180 744.8 \gAk=11160 |

| 3EEE 1,216 5 1.1180 | 1,427.1

| 4B | 16474 1.1180 | 1.841.8

| sma | 2o0med sl 2803

| 6@B8 | 25001 | 11180 2,796.2

F
ait L4271

HEED o

Fi=346. 5




ik



FHEHIZHE

S

it %

‘oAl

W A

s

LA}

31

AT

FELWAT

BEkm  t =2cm

2,304.0




(000°1)
000 "¢

N
s VY
@%_

7/
C 0O 0O 0 0 0O 0O O 0O 0O 0O 0 0 0 1
C 0 0 O o o=

07} BERERTE

~ 0 0 O
m/.ovrmOOOO
7 \ 7 A K 2
W) & g1y, ‘o\ o
2 r: T, [e] =
v . ¥ .”.,. . A .\FI
“\k% 53 x.!v.v .. 7 ..... - ~ad o o a H
Q = " 8 0¥e=H4
007 =
0 708 ¢ £S
08LE L ETLEEC [EEET]
0SLE T | £e68 't EEH
08ELF | gt EE
6FCC T | OSEF T T Bee |
08I I=THEE| ¢ 688 OSFLE | G 919 Bt
0°¢: =N
WEEE T 5| § 690 0SEF'E | ¢ 65¢ EEE
(4] &) 2D}
% Hmgt e By o4 &5
(TN —<FW TEH

EERLERETTH




HE K # &€ P T



HokEEYM T {EELTHEEHE

ki

2 BRIE (1B |
Jya—L FS300
FS350
FS400 s -
FS500
KE T a—4  |B600xH600
B700 x H700
e 5 B600 x H600 5.1 2.5
B700 x H700 2.4 1.6
1 B300 x H300
B350 x H350
B600 x H600
BBk 4L D600
HILE D600
HAE D450 20.0 =
HILE D400 48.0” —
HALE D150 15.2 1 s
/ma mﬂ
& % 100. 7 4.1

R




Rt THBSHE
Hok#EEY T - )L — k21 2—.4 (B600 % HE600)

600 500

FRIE : 0. 4m2
BE 0, 2n2

600

K = 0.4 m
B E= 02 m
+TEE L= 12.7"m

mzg L £ K
& 3l B 2 o £ sl welge|lue
K iE 5 mt | 0.4 12.7] 51|

B R m’ 0.2 12.7 2.5

Pl




EEITHEFHEE
Hk#EEMT . QIS — b DY) 2—L (B700 % H700)

500 700 500

B0 Y
BR:0.2m oS/

K = 0.3 m2

B E= 02 m

TIEE L= 7.9 m
mZy £ K
g Al RO B g = B | # = | EE | # = |
K iR n t ) m?* 0.3 7.9 2.4
I = m? 0.2 7.9 1.6




XTI IHEHEE

BEKBENT -

BEBEK (KEEE) D450

1350

HAED4S0

500

o

Ho LR

450

200

7o)

I 1350

RIS

FREE - 1. 0m2
BR: —-

K = 1.0 m

TTEE L= 30.0 m”

Al

Tm&H Y
By | &8 | EE

=g
%=

K_1E

T

m® 1.0 30.0

30.0




FEITTHEEE

HokigEn T - IEEHIK CREEZE) D400
] / Hu LR
LS a S SN T SR
. BUR : 0. 8n2
g W// SR
K #= 0.8 m
+THEE L= 60.0 m
my £ K
g7l H OB B | = | EE | #$E
® B +& m?® 0.8/ 60.0] 48.0




EELTIHESEE
Bk T . REEBEK FEBIREZE) D150

300

7.
o S
= 0
Ha LR
o SRR,
S| BRI - 0. T2
N #R -

300
IR 8= 0.1 m2
-
+THEE L=152.0 m
MLy £ {K
Al B ¥, E g = B | #E | EE|(HE
T® m’ 0.1| 152.0] 15.2

7




BENHEHEE
HekigErE T . BREEJKIN

BER
i
1500 = SEAFR §00x1200 %1000
s 2 (BIZEE 50~ 6 150)
Y=t

:]L; [
o ck=18N/nm2

AEAE 500x1200x 1000
(BB 50~ d150)

FUJ 1100

1500

ARE ¢300

750

3

750

y ;‘_;5 § bﬂll .|t t=10mm

A

HEE | = 55 m
10m b £ K
2 Al B it 5 =X Hu| | #i8 | E R # &
J b |500x1200%1000{10. 0/1. 20%4. 0 m 33.3 5.5 18.3
hEE H#4 ¢ 50~150 (0. 50%0. 50-0. 30*0. 30«7t /4) *10.0 m?° 1.79 5.5 1.0
IR URHAE#1 | Fgi#a t=10mm|1. 50%4%10. 0 m?’ 60. 0 5.5 33.0
HFHE D300 m 10.0 5.5 5.5




BEA#H=EEE
HEKREE T - HEHEKER B600 x HB00

&K
‘ 500 600 _ 500
E_:‘T
a4 1 — b gck=18N/mm2
aWF— T a4
b
EE L= 127 m
10mzg v 2 {K
| O B g = Hu| # = EE | H & |
anb—koya—zs| B600 x HE600 e 5.0 12.7] 6.4
v 1) — k| o ck=18N/mm%|0. 07x0. 50%10. 02 m® 0.700| 12.7] 0.9
iy 0.07%10. 0%2 m? 1.40| 12.7 1.8




BUBESHEE
BokBiEm T - #iEHEKES B700 x H700

/

=
, 500 700 , 500
Eﬁ
\ avy 1) — b ock=18N/mm?2
INF—=bTY =L
W TFU o8
-
EE L = 7.9 m
10mzy v £ K
# Al S v & £ Hfii| # &8 |ERE | # = |
ans—roya—n| B700 % H700 {& 5.0 7.9 4.0
a2 1)— k| ook=18N/mm? [0. 07*0. 50%10. 0%2 m® 0.700| 7.9 0.6
Y 0. 07%10. 0%2 m® 1.40] 7.9] 1.1




BUHEFEE i
Bkt T - #EHRKER/ANRER  #iEBEKES (B60O x HE00)

2000

600
300 . 300
BB (1) t=3.0m
A\
i TN
B (B1000-L1500-H1000)
20 1000 200
9000r 1000 9000r 1000 9000r1000

150 60001700 150 150 G000 700 150 . 150 6000r 700 150

15 75 LEXE 1575 1535 1515 7578

WG t=2.2m T —[—

0 . M o = B t=32
g e
0 500 g ::g: o | 1
g i | sl g
CxTi e o L8+ M % U
=k a—0 F 3 ,::’
* 600, 700> 700 = x
W
EE L= 15.2 m
10m U 2K

L S &t B = Hil| % & |ER | B E
ans—rzya2—n| B600xHE600 1& 5.0/ 15.2 7.6
‘o) — | ock=1 8N/mm2 0. 10x0. 50%10. 0%2 m?® 1.000] 15.2 1.5
g 0. 10%10, 0%2 m” 2.000 15.2 3.0




HiHEtEE 7
HoKEEYT . MEHEKE/DERER B8R (B600)

2000
600
300 300
| BRI (1) t=3 tm
— T ——
N\
N
f ]
L - J
S0kB! (81000-L1500-H1000)
200 1000 200
8000r 1000 ) 0001 1000 9000r1000
150 G000r 700 150 150 60007700 150 150 6000r 700 150
[15.15 i 7575 75 75 1575 7575
WRE t=3.2m T T —l‘
1=3 fmn N
5,04 5.0% : B t=3.2
= -!"2 'i‘a,lx R.X 7 ‘!,
e o L, M 2
h 4 = el g
500 5090 :r’x x‘ » =3 ‘ai: = Q
0 - g

LE, Fu b ft

A=+ TYa—h i s |
%600, 0= 700 / : ‘X‘: —
x‘y'x*t‘x’:
{ 'K"X‘)(,‘KLI-K
Fuh—di b &

EE L= 152 m
6.6m¥ Y £ K
A O Ei g =X B $t 8 | ER | # =

.
g
]
5
‘xx:xr
l(“)(‘x‘
:::wxw'xxn
300
e
n'..l.
500
1000

) Foh—#Lk
) LB F v b

250

fe R £=3. 2mm 0. 90% (3. 00+0. 60+3. 00) *26. 48ke/m kg | 157.291| 15.2| 362.2

7oh—RIL R LB, F v Mt |13X%2 {& 26| 15.2| 59.9




HuHEHFEE

HEKEEMT - HtEEKER /NS

e

o stk s (8700 X HIO0)

ns

7

HER

MR (2) t=3. 2mn

2000

|
J
SokMi (B1000-L1500-H1000)

~
//‘ -
~ \//
i 200 1000
-
900or 1000 0lor 1000 9000r 1000
150 6000r 7100 150 150 §000r 700 150 6000r 700 150
15 75 515 7575 7575 7515
5 1= T T T
| B t=02m
so gl padig] L LAy
3 7 — GaRe mE || oz
%X X“’x ,K § }3 "’ : | S
o L. i e g Tl il
SR I‘I ‘n:x’x !:: § i ] sl 8
?J‘f”_?f’“‘ — e LRI ==
anH—p7Ya—d 7
%600, 100 %700
Fuh—itin b f —
>
HEE L= 152 m
10mz4 Y 2 K
i % 7 =X By | % 8 |ER|BE
ans—rzya—u| B700 X H700 & 5.00 15.2 7.6

m® 1.000] 15.2 1.5

i 41— k| o ck=18N/mm? 0. 10%0. 50%10. 02
B 0. 10%10. 0%2 m? 200l 15.2| 3.0




HUHEHEE
BEkEEYT - PR KES/DERER  HE8HAR (B700)
BER

2000
600
300 300
BEE (1) t=1.2m
{:74?;:1:r-—~-
i
P |1
e
HEHE (2) =3 2m N
s e - )
Fuh—ti b I AR
P -~ LRI L J I )|
//// | MKl (BI000-L1S00-H1000)
~ "
~ - \/
- 200 1000 200
~
9000r 1000 9000r 1000 9000r 1000
150 60007700 150 | 150 §000r 700 150 150 6000r 700 150
ugﬁ' 575 75 74 7575 1575 7575
488 =0 T T
d HigE t=3. I "
50y 5.0% s | BRE t=3.2
[ X AN W W | Y x:n * x:x::’
" x:x:xx =3 R L E
i e o Nt e
500 W ® = ‘aix * B | —
g X = i
b s ¢ ole
T 2|2

Fuh—ifilt
18,9 ki S8 el L&, 5o+ 3
aF=b2Ya—L (Y w
505 600, T00% 100 / oot |
i o

SER L= 152 m
6.6m3 L 2 K
.| - &t & = Hiu|l % = | EE|H =

[

At AR t=3. 2mm  |1. 00« (3. 00+0. 60-+3. 00) #26. 48kg/m ke | 174.768| 15.2| 402.5

Foh—ARIL b LB s F[13%2 & 26| 15.2| 59.9




BAHEFESE

HOKEMT . 12/hEHkT
R
200 1800
%h“/\ 1l
- 5.0%
Q P
\'_IL' 3
) \
a4 1) — b ack=18N/mm2
)|
EE L= 1404 m
HGED = {K
# Al b &t -1 =X Bi| &% & |EE | # &
2% Y — k| ock=18N/mm*|0. 07* (1.80+0.30) *10.0 m® 1.470| 140.4| 20.6
H Hh#t t=10mm  |0. 07 (1.80+0. 30) m? 0.15| 140.4| 2.1




BAHEHESE
HekiEEWT - 28 /NERHEKT

BER

200

3800

'.‘.1)“ )
\.
i 2
\‘.'L-“ - N
/ \ a2 4 1) — b o ck=18N/mn2
/

R L= 102.7 m
10m4 1 £ K
B Al B % &t 5 = B | % &8 |EE|#E
>4 Y — k| ock=18N/mm?|0. 07% (3. 80+0.30) *10.0 m? 2.870| 102.7] 29.5
B ih#f t=10mm 0.07% (3. 80+0. 30) m? 0.29] 102.7 2.9




HiI#E

HEE

BEkigEmT - Fok#t B1000-L1500-HI00

HER

A—A
1400
| 200 1000 200 2000
|
i 1400
g j 200 1000 200
]
! e o e | L=~
1= 4 4.
-8 g =~ =]
= 1 = L~
i | _E 3
gl | (i{) 7] S
' !
! |
| E L 1400 ij
2000 |
ALY = 2  &Fr
1EFRSY 2 1K
BEmOA /O &t = 38 B | B8 | ER|HE
au4 Y— k| ock=18N/mm’ |1. 40%1. 90%1. 05-1. 00*1. 50%0. 90 m? 1. 443 2.0 2.9
iy (1. 40+1. 00+1. 90+1. 50) 1. 05%2 m? 12.18 2.0 24.4
EBBA  |RC-40 t=20cm|1. 50%2. 00 m* 3.000 2.0/ 6.0




BRHE

HEE

BEkigEEmT - &K B1000-L1500-H1000
HEX
iy
: 20 i 20 /% 2000
| 1400
g 1 I__| 4 200 100¢ 200
i ,/ o /\
| e ————— e - Z
<[ —
T - s S
\/ _| e#as /31/%
. §08 T =
2000 j L 1400 3
EHEHY = 2 #&Fr
1EmEY 2 K
wOR - 3 i g =% B | B E|ER|HE
a9y y—+k crck=18N/mm2 1. 40%1. 90%1. 15-1. 00*1. 50%1. 00 m? 1. 559 2.0 3.1
iy e (1. 40+1. 00+1. 90+1. 50) *1. 15%2 m? 13. 34 2.0 26.7
A |RC-40 t=20cm|1.50*2. 00 m? 3.000 2.0 6.0
Z#<£E |D13, W=300 {& 2 0.0 0.0
T AR 2=




H oK ¥ M T EE =
x 18] 181
B4 F =1 2 RO E K| & = & HE =
HEHEKEE
B600 x H600 )
1B B 79
282 B 421
3z H 12.7 12.7
4E% H 98
S B -6
6E% B kM
m
A B 0.0 12.7
& &t 12.7 m
i JET 18l
£ P = % £ K| =] b ao| It =
HEHEK BB
B700 x H700 23] 2.2
1B 8.2
2B H 101
SXR 7.9 7.9
4E% H 9.2
bEXH 122
6Bt H 243
m
N B 7.9 0.0
= § 7.9 m




H oKk B & ¥ I & K B E
E fi & i
£ B2 & | ® A | E E| B2 & | & A |E & B =
FETE KRR E
B600 x H600 @ 0k H 30
1B 6-6
2E3E 8.6
3EH 6.6
AR E 6-6
5EXE 6-6
6EXE 6-6
m m
A 0.0 15. 2
& & 152
M & il
% W | & A | ® A | E E| & & | #® & | E E|# =
FEHE KB/ B
B700 x H700 0 H 30
HEE | 66
22 H 8.6
3R 6.6
452 H 6.6
5EE | 6.6
6ErE | 6.8
‘ m m
A F 15. 2 0.0
& 15.2

|2




H XK # & 9 T £ K #H =
x {81 a 18]
% F 2 R by m | R &£ = ® ooEm | EE| B E
15/MNEREEKT
155 369
3EEH 140.47
AEE B 1769
5ERH- 2145
paLl
A F 140.4
& & 140.4 '
. 18 B {8
4 o i = iy m | ZE E| & =1 & R E E|E =
25 /NEREEKT A
2E5 B 102.7
/m
N E 102.7 0.0
A = /
& 3 102.7 m




%:'l.l
T

oK B E ¥ I & K

x 48] va) 181
% i i) =t & = E | & = S = E K| #
EEHEK
FHHE D450 ® 1440
30.0
® 1429
~m m
N B 30.0 0.0
7
8 &t 30.0 m ~
i JE] i1 il
£ 2 ) = #& R | E K| #& = iy 2 | E K| &
rEEHEK 30.0 30.0
EFLE D400 ® H6-0 ©) 1200
/m
N 30.0 30.0
(

60.0

op
i
B




B Kk # & % T & E 3 Z
£ fl 5
A R i )= & =1 T K| & =1 & = T E|fE &
EEHEK 56,0
HILE D50 ® 1600 Q) 84.0
6.0
@ 12.0 ® 136.0
14,0
® 1160
36.0
® 108.0
m m
% 136.0 16.0
& 3 152.0
= I A 1l
£ i jiae = & =1 E K| =1 & J=1 i KB B
m
I3 0.0
& 3 0.0




B oK #

M I & K

i*
% R s = it = T K
ERE K i
ANO. 2+8. 8 ANO. 7+1.8 4.5
ANO. 3+19. 3 ANO. 8+6. 7 35
ANO. 5+10.0
ANO. 5+13.0
ANO. 8+10.0
m m
I F 0.0
a 557 m
x
= 0 &z m jiaw =1 T F
BRIk
avy')—rE | ANO. 2+8.8 ANO. 7+1. 8 1
ANO. 3+19. 3 ANO. 8+6. 7 1
ANO. 5+10. 0
ANO. 5+13.0
ANO. 8+10.0 |
|
!
|
|
54 ®
I E 2
&5 § h5d




